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1 Which one of the following statements is correct 7
(1y Cclis of all living organisms have a well organised nucleus. '

(2) Both, animal and plant cells have a well defined ccll wall. '

(3) Prokaryoics lack” membranc bound organelles. I

4y New cells are formed de novo from abiotic material.

(1 wﬁam@@fﬁwmm%i
@ a@@m—aﬁﬁaﬁﬁmﬁﬁwaﬁﬁm%ﬁ'%h

(%ﬁ%ﬁ@ﬁ@ﬁﬁm@ﬁﬁﬁmm@%
mq%ﬁ%ﬁm%ﬁﬁwﬁ%ﬁﬁﬁ@ﬁﬂﬁ%

T

2 Which onc is the correct sequence of a celt cycle ? s
1) Gl->S——>GZ—)M (2) GZ—eM—-)G-l-aS_s;r -
@ S$—G, MG @ 6,76 »S$—>M :U
aﬁrﬁmwiﬁﬁﬁqﬂmﬁzﬁraﬁwﬂ?m%? s
(1) Gl—?S—aGi--:eM (2) Gz-—>M->Gl->Sv,~
3y $—G, SM— G, @ G, G857 M

3 The phosphate érbﬁp “anid sugar molecule of a nucleotide aré 'linked"f;y -
(1) Hydrogen bound ) Phosphodiester bond
3) Monovalent bond iy Peptide bond o\
wmwmwam%ﬂmwwﬂ%~
(1) TR 89 BT () wEREETRY 99 A
(3) g 1 S ' @ e W o

4 Transverse section of a plant material shows-the following anatomical ; EhAracters ~
)] Hypodcrmis is sclerenchymatous : L
(i) Vascular boundles.-are conjoint. closed and scattered in the ground ussue
(j1i) Phloem parenchyma is absent ?
What will you identify it as -
(1) Monocot stem ' (2) Dicot stem
(3) Monocot raot (4) Dicot root SEL I
wwwﬁ%mﬁqﬂi&ﬁﬁﬁqﬁiﬁﬂﬂaﬁfﬂawfa@é%ﬁ% -
() oEyed o Soer e
(it) wwm,mﬁammmﬁ%@%@
(i) e g e |
o wEel W AT F T HE 7
1) Tl o F e H 2) b @ B A
¢y e 7@ % A @ el E X
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5 Match the lists I and II and select the correct answer using the codes given below

List 11

Gynoecium  monocarpellary
Placenta swollen

Stamen tetradynamous
Flowers trimerous

Anthers monothecous

T [ 1 # gt ARE aor gRet & 99 82 R 99 @ gemar @ w9 e

the lists :

List I
{a) Brassicaceae (i)
(b) Malvaceae (ii)
(¢) Leguminosae {iii)
(d) Solanaceae (iv)
(¢) Liliaceae )
Codes :
(1} (@) (i), (b) (v); (©) (v} (d) (@) (e) (i)
(2) @ @) o) (i) (© Gi); @) (v ) )
G) @ v (B) (v); (o) (i) (d) Gi): (&) (i)
@) (@) @), ) ) © () @) (i) ) Gv)
W T B -

= 1
(a) SfRdl (1)
(b) e | (i)
() WPrERY (iii)
(d) G (iv)
(e) forforaedy v
FE :
(1) {a) Gii); (b) (v); (&) Gv); (D) Gi); (&) (i)

84 A]

T 11

HESIET R ger
e gt

g1 ey

UAFTRIY WehehIsSed!

Uptake of water
Cooling of leaves

of T IUET
quit @ Sfraes

Toxic element
Micronutrient

FHifquTg a
&I

) @ G @ () (o) (i) (@ (v); @) v)
Gr @ s B Gv); (© (i, @ i) () 0}
4) (@) (i), (b) (v); () (i); (@) (ii); () (iv)
6 Which one is not a function of transpiration ?
(1) Excretion of minerals (2)
(3) - Uptake of minerals (4)
B G B ARG @ T &7
(1) @™ ugral o1 s (2)
(3) Wi wErt @ IguEw 4@
7 Iron is a / an -
(1)  Unnecessary element {2)
(3) Macronutrient 4)
wer ¥ -
(1) o aas od (2)
(3) o 4)

[ Contd...




8 The reaction centres of PS T and PS Il are - Ce

(1) Pggo and Pygp (2)  P3gq and Prgp }
(3) P400 and P?OU (4) PTOO and P()SO f‘;“
PS [ @ar PS II &1 sifwReal %= exm § - BRI
(1) Pggo TET Prgg (2)  Pagp TEUT Prgg e
(3)  Pygo T Prgg (4)  Prgp T Pego

9 The only 53-C organic acid formed as an intermediate in Krebs cycle i:s -
(1) Citric acid (2) o -ketoglutaric acid . '
(3) Malic acid (4) Oxaloacetic acid —
-Wﬂaﬁéﬁémﬁaaﬁaﬁqmﬁﬁws-cmﬁmw%w “y
(1) uEks o Q) o-@ErgEiw e
G) v emw (4) oiRwEeE o

10  The coenzyme of enzyme Pdehydrogenase is - ‘
(1) NADP (2) NAD SRR
3y FAD - (4) Al the above N

wr % P . [T

(1) NADP | @) NAD
(3) FAD (4) wuged |l :

11 The living differentiated cells having lost the capacity to divide can regaih’ﬁis capacity
of division under certain conditions. This phenomenon is termed as - '
(1) Differentiation (2) Dediffercntiation
(3) Redifferentiation (4) Maturation

R @ AT @ g 3T A ¥ 56 aftee T @ wE € -
(1) i @) o

(3) gARwE (4) OfaEad

. 1"_..

Fl

12 Those plants which require a photoperiod cxceeding a. well defined critical-,ﬁhotopcriod
for flowering are called - -

(1)  Day neutral plants (2) Long day plants ot

(3) Short day plants (4) Intcrmediatc plants

ﬁﬁﬁhﬁw%%ﬁgﬁﬁaﬁmm%%mw&@mmaw

(1) v sedF Ry @) 2 fEw gy

(3) g feaw ey (4) WumEEt IR
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16
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Match the lists 1 and I and sclect the correct answer using the codes given below

the lists :

List I
{(a)  Electrostatic precipitator (i)
(b) C.FCs (ii)

(c) Sanitary landfills
{d)  Eutrophication
Codes :

(1) (@) (v) (b) (iii); (¢) (i) @) () (2)
(3) (@ (v} () (i); (0) (ii); (d) Gi) (@)

(iii)
(iv)

List IT

Ozone deplction
Musicipal solid wastes
Ageing of lakes
Particulate matter

(@ (i) (b) (ii); () (iil); (d) (iv)
(@) Gii); (b) (iv); (c) (ii); (d) (i)

qﬁr[all@rg&%aﬁﬁ&am@ﬁ%%ﬁ&v&@ﬁm@ww

F T PR
T 1
(a) Jga oradfe (i)
b) % wa AW (ii)
(c) TIEET U, (iii)
@l coshnem)
(d) guro (iv)
F :

(M (@ @) ) (i) @) (i) @ ® @)
() (@ (v} ) () () G} @ (i) @)

In lichens the function of mycobiont is -
(1) Absorption of mineral nutrients {2)

(3) Absorption of water 4)
WEHE N FABY @ OBE E -

() wf+sr qwe & erasioor (2)
(3) & B FEIgT (4)

T 11
A SraEy

TIRYNAR 3 S
Al & e qHEE

aiﬁnﬂ'qqaref

(@) (i) (b) (ii); (c) (iii); (d} (iv)
(a) (u); (b) (iv); (¢} (i); (d) ()

To provide shelter
All the above

YIAT T HT

Sug wAi

Which one of the following, has maximum contribution of greenhouse gases towards

global warming ?

(1) CH, (2) €O, 3)

CFCs (4) N,O

fagar awlider & R Prafifed & 3 @ sRays 6l & watfre Grrm o & 7

() CH, ) CO, 3)

Cardiac muscle fibres arc -

(1)  Striated, voluntary ' (2)
(3) Non striated, voluntary (4)
g Wha og 9w ¥ -

(1) Yam, thew @)
(3) o, thew )

CFCs # N0

Striated, involuntary
Non striated, involuntary

e, orifos
aifgq, efms

Antibodics against germs in our body are formed in -

Thymus by Lymphocytes
Blood by cosinophils

i e I I L ro el

(1) Liver by RBC (2)
(3) Blood by platclets 4)
T MR ¥ frepet ¥ faee wdeida o fofw @@ 3 -
() =Fa & o). 9. @ 7w (2)
(3) R A weww™ T @)

84 Al 5
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20

21

22

23

Which hormones are secreted by anterior lobe of pituitary ?
(1) TSH, ADH, Prolactin (2) LH, FSH, Growth hormone
(3) ACTH, TSH, Oxytocin {4y STH, GH, Antldmretlo hormone

ﬁ?@ﬁaﬂqﬁﬁ%aﬁﬂﬁaﬁﬂaﬁaﬁ%?
(1) & wE T gm WA (2) Qﬁ@,mww,‘q&'mﬁ?
3) T® A wE A g e, SRR (@) ow 3 1m, o 0, TR wHw

S

The venous system of Frog differs from that of a mammals in the presance of which
of the followings ? T
(1) Renal Portal system (2) Hepatic Portal svstem

(3) Hepatic vein (4) Superior vena cavac. .
mmﬂmaﬁﬁ%ﬁmﬂmﬁ%mm&uﬁmﬁﬂ%?
(1) ga& Fremfesr = @) uga tramw = o0

@) @ B () gt o E

The region of human eye from where optic nerve passes out of the retma is called -
(1) Yellow spot (2) Optic chiasma

(3) Fovea (4) Blind spot

T A % gegew @ 9E A% el ¥ g drv fewd ¥ Eh'éFch'iT%—

() dw &g e (2) gT& dbeE eqmﬂm

(3) @@ (4) oy g

A toxic substance hemozoin responsible for the chill and recurring hlgh fever, in a
man suffering from malaria, is released by -

(1) Sporozoites (2) Rupturc of RBC =

(3) Female Anopheles (4) Cause not known SR
ﬁﬁﬁﬁwaﬁvﬁwéahﬁsqﬁﬁm%tﬁ%aﬁmﬁﬁgﬁﬁmmm

)k % fag soerl ¥, @ Pew fem emr ¥ -

(1) e &3 (2) mafh'{asfﬁmaﬁaatm%@r

(3) W UAThdlle 2 (4) IO STEN ®

Mouthparts of cockroach are - S

(1) Biting and chewing type (2) Piercing and sucking 'type

(3) Siphoning type (4) Sponging type o

R ® gatn a9 ¥ -

(1) Was Td FAUH THRL B Q) VT T TOE WER FH

() frta et % (4) el WX &

The theory of Natural selection states that - .

(1) Heritable variations arise due to change in gene pool.

(2)  Environment has a role in evoluation. L

(3) Natural selection acts on favourable and useful variations which - -appear among
individuals.

R

(4}  Acquired characters are inhcrited. -

(1) mﬁaﬁmﬁﬁﬁqiﬁ?mﬁqﬁaﬁ?@m%%i T

(2) TSR F awERe @ oqPe Bl g

@) gk awr dat ¥ I omgw Td wwdnh fafiearel wogEE St &
() uida @Em I B )

84 A] 6 | [ Contd...
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27

28

Allopatrie: speciation is duc to -

(1) Mutation

(2} Geographical separation of populations

(3) Migration of members of one species to other population
(4) Hybridization between closely related species

fereenfres “wify sgwem @ wwor ¥ -

() eufEdT

(2) wEReEt @ Wnifae geaeor

(3) Tw vald ¥ g wr qEd wafe ¥ waew

(4)  wge st F Hepor

In Dms*oplnla (fruitfly) red-evye character is dommant over white cye ¢haracter, when
a homozygous red eyed individual is crossed with homozygous whitc cyed individual
and F; gencration arc intercrossed, 12 (twelve) individuals arc produced. White cved
individuals of these will be - B

(1) three (2) six (3) nine -4 twelve
Mm(ww@)ﬁmﬁa@ﬁﬁmwﬁrzﬁ%mﬁwmﬁmﬁww
vl B W N A WIS Wl § e € wd F, ga ¥ T g
|12 W)Mméﬁwﬁﬂﬁﬁﬁmﬁmﬁﬁrﬁmﬁvﬁ—

(1) @m () ®: (3) (4) IE
Which of the following is a scx linked descasc 7 . p

(1) Nightblindness (2) Glaucoma 4
(3) Eczema (4) Habmophlln v
trerifra o & e o T e O R 7 :

(1) <& (2) \IwEEH (),

(3) oA (uhwmEn (4) e
What arc the biological tools of 'Recombinant DNA technology' ?
(I}  Restriction enzymes (2) Cloning? vectors

(3) Competent host (4) All of the above
T &L uA. U ouiaftr % ok ofe wmw E0

(1) wiydy froas (2) i ded (GRS
(3) g HSEE (4) outEg @d

A committee set up by Govt. of India to make decisions regarding the validity of GM
(Genetically Modified) research and safety of introducing GM organisms for public
service, is -

(I) NBPGR (National Bureau of Plant Genetic Resources)

(2) CBD (Convention on Biological Diversity)

(3) CMS (Convention on Migratory species)

(4) "GEAC (Genetic Engincering Approval Committee)

qIE TCHR g0 feq HAe, a}a@aﬁmmﬁa(GM)ajawa%awam
GTEifihd: Urfcd SHet & S S9anT % wfe gean § watun Pty 4 % frg whwga
(1) LR G Sl e (urey engefie TR W o i)

2y @@ 9 @GR fEga e

(3) & . e (E gk @ o)

@ 9 % T W (el abaifed dgiy i)

84 Al 7 | Contd...
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35

Animals cxhibiting asyrumetry, radial symmetry and bilateral symmetry respectively arc -

(1) Crab, sponge, starfish (2) Sponge, crab, starfish .

(3) Sponge, starfish, crab (4)  Starfish, crab, sponge .

oo S e ereniRRy, el wbimr den Rt iy weRie @ ¥
(1) e, Wi, sl Q) i, %®eT, ATAEH

(3) wWiw, TRESR, sl (4) TRMBH, HHS, Wil

Which group of Placenta is found in human being ?

(1)} . Epitheliochorial - Diffuse (2) Endothaliochorial - Zonary

(3) Haemoendothelial - Discoidal (4) Haemochorial - Metadiscoidal

Tl ¥ A GIE b W (ST W S ®
(1) thfukEmhiow - faka Q) TEiafmEmiEE - TG

(3) dneifufmaa - T (4) EmmiEw — eakmEry

The total number of orbitals associated with the principal quantum number n = 4 is :
(Iy 4 2) 8 3) 12 4y 16

qE FaA GEN n = 4 § TERK W waw b g W

(1) 4 2y 8 (3) 12 4) 16

The pair of species having same bond order is :

(1) N, Cl @ 03" F (3) NO', CO (4 O, N,
fordier w0 % g Bt § @ W WA T
(1) N, Cly @ 03" F, (G) NO.CO (4 04N,

[l gm carbon dioxide gas may be obtained by combustion of x mole of methane.
The value of x is :

(H o171 2) 0.22 3) 0.25 4y 0.50

Ao ¥ x A B oweT T 1] AE FEA CESEES WA B O Wb ¥

x @ A % :

(H 0.1 2y 022 3y 025 4y 0.30

The molar mass of an ideal gas can be calculated from the cxprcssibn :

dRT RT Pd - dRT
M=— M=—— M=— |=—v
(0 v @ Pd (3) RT (4) D
st e @ epi fre el @A S fEr W ek ¥
dRT RT Pd dRT
=— M=—— =— =
MW v @ Mepp O M=—" () M=

The molecule / ion having T-shape 1s :

(1) BF; 2) NH, (3) Hy0* (4) CIF,
T-sgpR AT S [ STET ¥
(1) BF; (2) NH, (3) H0" ) CIF,

84_A 1 8 ~{Contd...
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37
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39

40

41

If excess of AgNO, is added to a solution containing one mole of CoClydNH;,
the number of mole(s) of AgCl precipitated will be -

(1 o 2 |1 (3) 2 4 3

A AgNO, w1 ot T TR Fraaw § frowr s, Ry CoCly4NH, &1 T =i
URYT W, @ AgCl ¥ sradfg wrw o -

(1 o @ 1 3) 2 (4) 3

[CO(NH3 )5 SO4]Br and [CO(NH3 )5 Br]SO4 show which type of isomerism ?

(I)  TIonisation isomerism (2) Co-ordination isomerism
(3) Linkage isomerism (4) Optical isomerism

[ Co(NH;);S0, [Br i [Co(NH;), Br]SO, f Wt @ wmaam W

H L 7
(1) om== gaEEEa (2) SUHEEOST GHEIEr
(3) FUH wEgEar 4) EliE gerEagear

The increasing order of crystal field splitting strength of ;NH3, CN(? NO? and OH®

ligands is é

() NOP < NH;< OH%< CN®  (2) NH; < OH® < CN® < NOY

) OH® <NH;<NOP <CN® (@) OH® < NH; < CN© < NO

NH;, CNS NOY . OHO firiw =1 westi o firea & Rrare avan =r w7 % -
() NOY < NH3< OH?< cN® (@ NH; < 0HO < oN© < NOY

() OH® <NH;<NOP <CN® (@ OH® < NH; < CNO < NOY

The corrcet order of first ionisation energy for C, N, O and F is -

() C>N=0=>F 2y O>N=>F>¢(C
GB) O>F>N>C @) F>N>0>C
C. N, O olX F & Ty wom o oot o1 &8 %9 & .

() C>N>0>F ) O>N>F>C
3 O>F>N>C 4 F>N>0>C

The pair of amphoteric oxides out of the following is :
(I) €CaO, CLO; (2) CO, SO, (3) H,0, Na,0 (4) ALO;, As,0,

Frefaige & @ swael ofwEs & g ¥ o
() Ca0. CLo, () €0, 80, () H0, Na0 (4) ALOs, As,0;

What is the pH of a 1 x [0-% M solution of HCI ?

() 8 2 1 (3) 6.9 (4) 7
1 <108 M HCI Ry & pH @& & 7
(1) 3 2) 1 (3) 6.9 @ 7

84 A 9 [ Contd...
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43.

44

46

47

For a reaction to occur spontancousty :

o) (A.HwTAS) must bc negative ) (AH+TAS) must be megative

(3) {AH) must be negative @ (AS) must be negativ!e-_

Bt ofifrn ¥ wa: waida @ & oo

(1) (AH-TAS) =i € 9 (2) (AH+ TAS) oTeten z‘ﬁn (i
3) (AH) woreE € Wiy @) (AS) #omeTr B =R

In thc reaction :

3 Cl, + 6 NaOH — NaClOj + 5 NaC] +3H,0

the clement which loses as well as gains elcctron is :

(I Na 2y « 3 O €))
P aifwfpar & @

3Cly + 6 NaOH — NaClO5 +5 NaCl +3 H,0

a5 @ W e @rar W ¥ ol weer o e ¥

(1) Na @ A 3 O (4)
Froth flotation proccss 1:5 used for the concentration of :

(1)  Oxide ores (2) Sulphide ores

(3) Chloride ores (4) Amalgams

¥ waw faty @ sgdw P % ameer ¥ Rear wmr ¥ o

(- HIFAES IR (2) UTTEIEE TEH
(3) aaﬁm‘s UEh, (4) oM

“Water-gas’ s
() €O+ H,0 (2) CO,+ Hy 3) CO + N, (4)
() CO+H,0 (2) CO;+ H 3y CO+N, 4

Which of the following is a mineral of copper ?

(1) Calamine (2) Cryolite (3) Hacmatite E)]
firmffag & ¥ @9 BOAT B GG & 7

(1) bammET (2) WEWES (3) wTERE (4)

IUPAC name of s

(1) | - Ethyl - 3, 3 - dimethylcyclohcxane
(2) 1. 1 - Dimethyl - 3 - cthylbenzenc
(3) 3 - Ethyl - 1, 1 - dimethylcyclohexane
(4) 3 - Ethyl - 1, | - dimethylhexane

€O + H,

CO + H,

Malachite

ﬁ%i‘m‘c

{ Contd...



48 Number of ¢ and ® bonds in butenyne are :
(' So,3xn 2y 70,3n 3) 8¢, 2= 4) 60, 4n
M (butenvne) ¥ ¢ wem ¢ owEt @ e ¥
(1) 50, 3xn 2) 70,3m 3) 806, 2xn 4) 60, 4%

49 Name. the alkene which on ozonolysis gives acetone :

(1) 2 2 Butenc (2) 1 - Butene

{3) 2, 3 - Dimethyl - 2 - butene (4) Propene

T U H T 9aRy s et & YHET wr aer &
() 2 - =@ 2 1-3@9

(3) 2,3 - sEafhw - 2 - sdm (4) wWdi=

S0 Which of the following groups directs the incoming electrophile at meta position in
benzene ring ?

(1) -CyH, 2} -NHCOCH; (3) -OCH,  (4) -COR
Fr 4 § 2w T o am weee B8 B 3 awm @ A Rafy v BERE
w7

(1) -C,H; (2) -NHCOCH; (3) -OCH, (#) -COR

51 Which hydrocarbon on warming with mercuric sulphate and dilute sulphuric acid forms

carbonyl comopound ? _
{1y Alkane (2) Alkene (3) Alkyne (4) Benzene

e wgmds # T=ifir o 9 oY TRERe e ¥ A W e A @i
@fe W g ¥ 7
(1) Qe (2) N (3)  UwprE 4 &m

52 The glyptal is a polymer of :
(1) Phenol and formaldchyde (2)  Styrene _
(3)  Ethylenc glycol and phthalic acid (4) Ethylene glycol and terphthalic acid

faaes ey @1 agaw
() e o wiffreess 2) wEdE
(3) uftmie wEwE o A o (4)  uftdim et ol Txdfve or

53  Polythene is an example of the following type of polymer :

(1) Thermosetting polymer (2)  Thermoplastic polymer

{(3) Fibre (4}  Elastomer

it Frer weR & wgaw @ waEer ¥ o

(I) dge FaF (2) dgEE GFEE

(3) I (4) vERT 9gAd
54  Norethindrone is an :

{I)  Antifertility drug (2) Enzyme

(3)  Antacid (4) Analgesic

ARSI ¥ U _

(1) vk ey (2) demgH

(3)  wiy-smm 4y disErd

84 A 11 | Contd...
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59

60

61

The metal present in vitamin By, is @ i

(1) Zn (2) Fe (3) Mg 4 Lo

frafF By, ¥ Suled wig ¥ ¢ -

(1) Zn (2) Fe (3) Mg 4 ,€o

Which of the following is narrowspectrum antibiotic ?

(1) Penicilline - G (2)  Chioramphenicol

(3) Ofloxacin (4) Vancomycin .

fre & & B0 Fohl-wagd yReE ¥ 7

(1) s - G (2) TR

(3) SRR (@) i

The flocculating power of which ion is highest for Fe,03.x Hy0 sol ¢

(1) PO, ) APT (3) Na' (4) - [Fe(CN)gI*+
Fc,05.x H,0 | ¥ Rrg e oo @ e A e B 7 T -
(1) PO, (2) AP (3) Na' (4)  [Fe(CN)I*
A non-ionic detergent is formed when steric acid reacts with !

(1) Lauryl alcohol (2) Glyeerol

(3) Glyceryl oleate (4) Polyethylene glycol

(1) i YwpeE ¥ (2) fowde ¥ .

3) fwafa sifae @ (4) uifeaRedE wEeE ¥

An example .of a colloid having gas as dispersed phase and solid as dispersion mediam is :
(1) Butter. N (2) Pumice stone o

(3) Dust o (4) Froth o :
Freitee, R ultfira ormer fg g AR@Ter WA S w0 F, T IIETT &
(1) =FE @) wEr weR 3

(3) u& ’ ' (4) ¥

Photochemical smog is also known as : .

(1) Classical smog (2) Oxidising smog .

(3) Reducing smog (4) Acidic smog

ety TEERTE YA-HE 3 A ¥ o ST S ¥

(1) faema qa-wEd (2) SNE e

(3) SUEEE YA-HE] (4) o= YA-BEA .

Two spheres of 1 kg and 3 kg are dropped simultancously from the same height.

The ball that will hit the ground will be (If air friction is ncgligible)
() 1kg 2y Ske '
(3) Both will reach simultaneously (4) Insufficient data

1kga5kg%5afhﬁw“m1§%qmﬁwwﬁm&aﬁ%|E'rf‘7i‘ra1‘emaa
X wEd TEAW, 9F W (@R g @ e B oA A W) -

(1) ke 2) 5 kg

(3) & TH ar gan @) ommaEtd gEer
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At what angle with the horizontal should a player throw a ball so that it may go to
a maximum distance ? /

(1) . 30° (2) 450 (3) 600 @) 75°
w'mﬁﬁﬁw%%ﬁmwwﬂ?ﬁ%m@ﬁ?m@mmw ?
(1) 300 2) 45° (3) 600 4) 750

A mass of “m"” kg is rotating by mecans of a string with angular speed of " rpm.
If on keeping the radius constant and the tension in the string is doubled, the resultant
angular speed is roughly.

S R

(1) =n 2y 2n 3) 2n (4)

mﬁsmww'{wﬁaﬁm% "n"aﬁaﬁwﬁf@%ﬁgﬁsaﬁﬁaéﬂﬁtm
W E | Al B A R v@d gu @ W aa e w1 R @ a gRomh
@i 1 T g -

M @ 6 i @

A particle moves along X-axis from x=0 to x=5m under a variable force

F=7-2x+ 3x? Newton. The workdone in this p;ocess is -
(y 7017 ' 2) 27071
(3). 351 4) P13

X-8 & oTgfey UF T UF WAl 99 F=7-2x+3x2 <A b wwEa A x=0
¥ x=5m a% uRwef S ¥ 1 ogw ghear F R @ @ @ owm e
(y 7073 @ 2707 -

G) 3517 (@) 1351

LI

If we go from cquator to the poles, the value of 2" will -

(1) decrease (2} increase

(3) remain unaffected (4)  become zcro at poles
fogerd ar & gat 1 ot 9™ w e W A -

(1) =&m (2) T

(3) omWRm T BN C IR - C L c i O |

A capillary tube dipped vertically in a liquid. The meniscus of liquid in the capillary
is m level with the liquid outside. The angle of contact is -

(1) Zero {2} o900 (3) Acute (4 Obtuse

T Gl B SR Oh 7o F goan o ¥ el el ¥ 59 @ Tause a9 B
% AT F 7 B O0 & qOAC A AL | 79 arerear ¥ wok For v A o -

() s (2)  90° (3) A B (4) aifes =T
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67 In the figure below, the potential difference across the 2 W/ capacitor_:.‘ivill be -

A m ufgow 2M%ﬁaﬁaﬁﬁﬁ%qwﬁwwmé\m—

12UF
| |
1 I
1500 2UF 2 _3MUF
-
[ |
1T
20 UF
(1) 200V (2) 400V 3) 600V 4 9S00V

68 The thickness of depletion layer in p-n junction diode may be increased by -
(1) increasing the temperature of device '
(2) increasing the reverse bias
(3) decreasing the temperaturc of device
(4) decreasing the reverse bias

pmﬁﬁlt«ﬂﬁ\‘éﬁwmaﬁaﬁmﬁa@émaﬁﬁ%—
(1) I & a9 Seml (2) U WA W AW FEHT
(3) Fghr & U TR (4) UYY WEE B AN HABL

69 The figurc below shows two semi circular current carrying loops of radii R and .
The magnitude and direction of the magnetic field at the common centre 'O will be -

fir i oftga A RlamRzﬁw%ﬁadﬁ%@ﬁ@%ﬁﬁww@ﬁﬁ
e |@gﬂa%ﬁ"0'q1gﬁaﬁa%amqﬂﬂmaﬁaﬂﬁﬁ—

u (1 1 )
(1) ~—+ — | Normal to plane directed upwords / T ¥ g FUT FH A
{

R Ry
(1 1
(2) 4 }?—?2; Normal to plane directed upwords / % ¥ T HI D T
/(1 1

(3) 4 \'ITI"" ‘}'g Normal to plane directed downwords / T & TG A0 B oY

T~
o
[
~
el
fu—
_/

ey 4 JQF]-_ Ez“‘) Normal to plane directed downwords / G o TR A o
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70 Whlch of the following pairs of quantities donot have same dimensional formula ?
(1 Torquc and work
(2) 'T‘t“zght year and wavelength
(3)  Pressure and eclastic constant
(4}  Angular momentum and power

ﬁnﬁ%gﬁmvﬂm‘rmﬁtﬂquﬁ% 4
(1) womger gor e
(2)  wenEy g i
(3) T T YR v
(4) @i €3 qur afm
7ok
71 An A h[ctc completes onc round of a circular track of radius R in 40 seconds.
What will be his displacement at the end of 2 min. 20 sec, ?

(1) Zero (2) 2R 3) ZTER---.. 4) 7aR
ﬁmRﬁsgﬁaiﬁwwwwmﬁﬁmﬁﬂmﬁw% Y ¥ 2 fiee
20 S yyay wESl frenuw @@ wwmo ?

() = 2) 2R (3) 291;-13}_ @ TR
= = T _
72 . If ( + B = ‘A — 8| and A, B are finite then -
gy 1
() A is parallel to B
SR BE
(2} A=B :
- -
(3) A and B arc mutvally perpendicular - o
— =
o |4-[3
B ‘2}+§(:‘E}—§' q A TE B Uit ¥, oW
() 4. B % wwm d
-5 =
(2) A4=B
3) A @ B T X % TET WREd ®
— —
(4):'_{_{;\1‘ A' = IB‘
73 The sate of change of angular momentum is equal to -
(1) Force {2} Angular acccleration
(3) Torque (4) Moment of Inertia
( == (2) - wiE @R
3) .. st (4) e eyt
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Two waves are given by ¥ = a sin (e —kx) and y, = a cOs ((ﬂf Ffd")'.',
The phasc difference between the two waves is -

L T
m 7 2 3 (3) m (4) ze_fo
[ qEN B g ¥ = asin (oof —kx) mar yo =@acos (et — kx) %1

T
m 7 (2) 2 B3) = (4)y I=

Half life of radium is 1600 years, its avcrage life is -

(1) 6200 yrs. (2) 4800 wrs. _ {(3) 2309 wrs. 4) 4217 wyrs.
e &) @ omg 1600 99 ¥, wwa offwd oy ERI - -
(1) 6200 a9 (2) 4800 99 (3) 2309 ¥ (@) 4217 a9

L

Suppose A= BC, where 4 has the dimensicn A_/f_ and C has the dirﬁéhsion E
Then B has dimensions. _
W 3 o L & F LT

M M L M

wA:Bc,aa*an?rﬁmﬁ—ia%amcaaﬁm%%awzﬁf&m%-

1 L 2 L 3 34 4 LT
0 5 @ = 3 2 @

A 5 kg object can move along the X-axis. It is subjected to a force in.the positive
X direction; a graph of F as a function of time ¢ is shown below. Over the time the
force is applied the change i velocity of the object is -

5 kg W TH aE X-oE % ogier T WAl ¥ | 59 9C T Xeas @ R &
TH g @ Wl § | F %0 990 ¢ % we % w0 F Um Ure g e e § | we
s Rl w0 omiR ¥ R agg ¥ o N OREdT ¥

F(N)
4- _________________
2..
3 1 |
() 0.8 m/s Q) 1.6 ms () 2.3 m/s 4) 4.0 w/s
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An object is dropped from an altitude of one radius above Earth's surface.
If M is the mass of earth and R is its radius, the speed of object just before it hits
earth is given by -

@r g, o e ]
@ e G) R

wa@qﬁrﬁqu&ha&ﬁw%wmﬁ% Gﬂé’r%
uﬁq&hmme%"ﬂmg&ﬁﬁﬁWR% a’:g&haﬁmwmﬁrw
T B AT & -

N N 6 G
R (2) R (3) R 4) Iz

Standing waves are produced by the super position of two sinusoidal waves, cach
of frequency 100 Hz. The distance from second node to fifth node is
60 cm. The wavelength of each of the two original wave is -

(1) 350 cm (2) 30 cm (3) 40 cm (4) 20 cm

< T o aew @ gt 100 Hz ¥ sreariite €t v 9 Rt sl ¥ 1
qut Prete & i Preis B g 60 om ¥ 1 26 T i s A ot ¥
(I) 50 ¢m 2) 30 cm (3) 40 .cm (4). 20 cm

The risc in pitch of an approaching siren is an apperent increase in its -
(I) Speed (2) Amplitude (3) Frequency (4) Wavelength

free o7 % e T b e ¥ wow, o ofs ¥ oaed (=)
(1) == ¥ (2) omEm ¥ (3) omgw A (4) R ¥

The number of degrees of freedom of a rigid diatomic molecule is -

1 2 2) 3 G 4 @ 3
Th 7% fEuAw ey i wdsa wifedl @ wem ¥ -
1 2 @ 3 3 4 GO

A point particle with charge g is placed inside a cube but not at its centre.
The electric flux through any one side of the cube -
(1) is zero

al

(2) 1is =
A L,

(3) is 660

(4) can not be computed using Gauss' Law
AN ¢ B TH g B UH O % WA @ T ¥ W TS HEw W A
o % Bl ft uw wed ¥ Rrga ot (W) -

(1) =%
q

(2) ';; 2
q

) 6e, ¥

4) e FEw g ofetwa T8 Rer s ogwdr
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36

A certain wire has resistance R. Another wjre of the same material, has half the length

"and half the diaméter’ of the first wire. The rcsmtancc of thc second Wire is -

I

R R i
) 3 = ) 4R

Uy 2R° YT @) 5

:ﬁﬁiﬁmiﬁfﬁﬁrﬁﬂk% |§é’lqarézﬁr@wm%ﬁm€€rwar§mﬁma&

ST qa N wEN A B OST | gEY WX @ R ¥ -

R R
(1) 2R @ 7 ® 5

(4) 4R

ST

In a Young's double slit experiment, the separation between slits is o and the screen
is a dlstance ‘D' from the slits. ‘D’ is much greater than <’ and 3 s the wavelength

“of tight. 'The number of bright fringes per unit width on the -screen lS -

Dd i DA d FESR
O @ ) o (4) m
a1 % T Rew owdm ¥ Rl % v wewm @ ¥ @w wof R ¥ B gl WO
Ddﬁagaam%amxmarmwﬁai%lqéwwﬁrwaﬁaéﬁwﬁwﬁ
b=t = dEem ¥ -

Dd DA d AL
O Y @ G (4) ﬁ
In a thtoelectrlc effect experiment at a frequency above threshold, thc number of.
photoclectrons ejected” is proportional to - ek
(F) their kinetic encrgy -
(2) their potential energy
(3) the frequency of incident light
(4) the.number of photons that hit the sample

%w&rﬁgﬁwmﬁ%ﬁ%mwmﬁrw W%iasﬁ‘crﬁ‘ﬂ‘ra‘o’rm

(1) T -nf%m Sl & @) Rafr ot % 0

= (3) wwf%mwara‘ﬁ ARt & 4) e T ey wER deden @
Which of the followings can be a superconductor at 4 K ? CUE
(1) Silicon ... (2) Germanium  (3) Diamond (4) Mercury
sufefaa ® & B9 @ 4 K T e 8 gwhar ¥ 7 S
(y Ffwes (@) sEtEE @ & @ U

87
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»
The equation of contmulty for the fluid flow can be derived from the
conservation of - - © C

(1) mass . A(2) cnergy (3) momentum  (4) pressiire
WW%%&WW _ ga frow | e o o el § |
(1) F=EH (2) I (3) g (4).. 719

R



88 A 1.5 m woman wishes to see a full length image of hersclf in a plane mirror.
The minimum mirror length required is -

) 15 m ?) 3m @) 075m . @) 6m

15maﬁﬁq1%quﬁmaa&wﬁaqﬁlﬁmﬁiﬁrwﬁﬁa&@mm%l
omaeTd T B WA wRE ¥ -

() 15m ) 3m G) 075m @) 6m

89  The product |, €, has the same unit as

1 1
() (Velocity)’ @) (velocity)? @) (Velocityy ¥ m
. €LOC1
THEA W, €, % AEG T8 ¥ & FE
2 i 1 1
(1 @E=m 2y  (Em)? (3) @ () o 1
()
- -
9 If A=6i—-8/ then 44 has magnitude -
(1) 10 2) 20 (3) 40 (4) 50
oy 2:6:'—8] T 44 @ REm R -
(1) 10 (2) 20 (3) 40 @) 50

91  When a haploid embryo is developed from cgg or any other cell of:an embryo sac
of a plant without the act of fertilization, such a development is -called

(1}  Amphimixis (2) Non-recurrent apomixis
(3)  Recurrent apomixis (4) Adventive embryony

mﬁﬁé’rwaﬁmaﬁﬁmwﬂﬂ{wﬁwﬁ%ﬁmmﬁﬂ%ﬁmﬁw
fear &, e gt @ oftedw @@ ¥ @ g9 veR & ofadw @ @

(1) Fvufrsor (2) STET SIS
3) Yl (SMgf) SR (4) TR YT
.92 Which of the following algac lack motile cells in their life-cycle ?';:
(1) Chlorophyceae (2) Xanthophyceae N
(3) Phaeophyccae (4) Rhodophyceae . .
Freifte & ¥ 9F ¥ Sl & ofed O ¥ wiashe sifidmed o erwg wer ¥?
()  TEREEr (2) SrUEREr
(3) TrarmrEdr (@) ST
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Which onc of the plant growth regulators would you use, if vou are. askcd to "bolt"
a rosette plant like cabbage before flowering 7 :

(1)  Dormins (2) Cytokinins

(3) Gibberullms ’ (4) Auxins
meﬁ@faﬁmwﬁw%qﬁ R TA mﬁ%@waﬁ?ﬁm
W o9Ed gis ﬁmm e & SuEE w7

(1) Sy (2) e

(3) e (4) ofitrTd

Photo rcspiration is accomplished m -

(1)  Chioroplast, peroxysomes and mitochondria
(2) Chloroplast, golgibodics and mitochondria
(3) Chloroplast, DNA and mitochondria '
{4)  Chloroplast, RNA and mitochondria
werlia 9T W g ¥ -

(1) FRRe, WHdEn 7 TEdstsar o
Q) FOwRE, TewE 9 ARt |

@) wee, duA T AEdmivea J

(4) IR, SRUAC d AR §

What is 'Forest of Nephridia' in Earthworm ?

{1) Septal Nephridia present in clitellar segments.

(2) Intcgum'cntary Nephridia present in clitellar segments.

(3) Pharvageal Nephridia present in 4, 5% and 6" segment.
(4) Al Ncphridia present in posterior scgments of bédy.
Hyge ¥ ‘gam 9T W 7

(1) wEeaL @S § Suigg wiE sahien |

() wEeeR @vd ¥ Sufed SEERe SEhie |

(3) 4.5, 6 @l ¥ wukem wEAy SEE] |

(4) R % usw weedl ¥ wuhgd T sEfiEd |

The organs of different species that arc refated to cach other through common descent
(origin) though become functionally different arc called - -

{1y Vestigial (2)  Analogous
(3) Non-homologous {(4) Homologous
ffir=r wferl % & of =Y vl ¥ ¥ A9 ¥ q<—gﬁ4:ra$réwﬁaaﬂ?f% HEAT &
(1) oragdr 2) wugh
(3) SEHE (4) wHEd
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Characters of which of the following groups are present in all chordates in some stage
or other of their life cycle ?

(1) Mammary glands, Hair, Pharyngeal gill slits

(2)  Notochord, Pharyngeal gill slits, Dorsal tubular central nervous system
{(3). Notochord, Scales, Dorsal tubular central nervous  system

(4) ~ Pharyngeal gill slits, vertebral colymn, Notochord

ﬁw%ﬁgﬁﬁ%ﬁﬁﬂ_w%ammﬁzs%hﬁ%ﬁﬁmwﬁﬁmﬂ#ﬁmwm
¥ o o ¥ 7

() w9 Wfuar, o, oo o fog

(2) Y% v, yan wm fw, by awmem Htem dfver d@x

(3) U Tou, ok, IMow wmmed Hfsa dfmr 9w

4) o T fom, FHeR TR, g T

A blastopore is found in -

(1} Dblastula and is the opening of blastowel.
(2)  blastula and is the opening of archenteron.
(3) gastrula and is the opening of blastowcl.
(4) gastrula and is the opening of archenteron.

H@ Y IET ST b -

() =R & qM 9% BB F BE
(2) =IRET ¥ qW AT IMAFT W BF E

(3) e § g @ eRe-TE @ By
4 e ¥ gur g emerrw @ fom ¥

Transfer of DNA from one bacterial cell to another by a bacteriophage is called as -
(1)  Transformation (2) Transduction
(3)  Translation (4) Competence

SIS B O e B A @l SiRE aF ST B e
GEET B —

(1) wUo (2) R

() EdyA (@) wmE

Indian curd is obtained by fermentation of milk by
(1)  Lactobacillus and Streptacoccus bacteria

(2} Lactobacillus and Clostridium bacteria

(3) Lactobacillus and Micrococcus bacteria

(4)  Lactobacillus and Rhizobium bacteria

T4 % e & wrdd <l W ghr ¥

(1) @K 9 gelsy et gx
2) RN 9 FEyy Shavpi g
() Aoy a TEmwEg Saey g
4) wwRNdTT 9 wEwfygg Sengel @
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Which one of the follo{;.fing is extrachromosomal, self replicating and circular DNA
molecule present in bacterial cells ? '

(1) Cosmid (2) Plasmid

(3) B-chromosomes (4) Bacteriophage

Ppefatad § § B @, ﬁm@aﬁﬂm@ﬁﬁmaﬁ_m%mﬁﬁaﬁw, [EOES
Y ¥ YRGR@E T T g4 agaEt AT By 7 ’
(1) WS L (2) wWHhAIS -
() WREEE () SfrfEss

Match List-1 and II and select the corréct answer with the help of codes _given below
the lists : ' N

List-1 (Discases) List-II (Microorganism genera)
(i)  Diptheria (a) Varicella

{ii) Whooping cough (b) Rubcola

(iii) Chicken pox (¢) Bordetella

(iv) Measles  (d) Yersinia

(v)  Pneumonic plague {¢) Corynibacterium

Codes '

() @ (e (i) ); @) @) (v) G} &) @

@ O ) (i) @; (i) b); () ©); &) @

3) () (a)y (D) (s @) @) (v) (b) ) (d)

@ (@ (@) @) ) @) @ (v) ©); V) e
@—Iallaﬁr,g&&mzﬁrﬁﬂ&amghﬁf%%hﬁnﬁ@ﬁzﬁm@mﬁw
& T B |

-l (@) T (e 491)
G) i (@) =g

() R wE _ (b) SieErar

(i) TowT Ol (¢) TR

(iv) #AreeEs (d) adfeEn

(v) At @ (¢) ettt

() @) (e} GiyLe); () () (iv) () ) @)
@) () (o) (i) (@) (i) (B); (V) () ) (@
(3) () (@); () () (i) (e) (v) (b);, ) @)
@ () @) (@) o) i) @) () ©); ©) @

Afier vaccination; the body builds up

(1) Lymph (2) Plasma (3) Antigens (4} Antibodies
SR % YN, T A ¥ .
(1) =& (2) AT (3) W 4) wrd

The first hormone produced by bacterial culture is -

(1) Testosterone (2) Thyroxin (3) Insulin (4) Adrenalinc
SHampet F dadw § saRd T T ¥ -

(1) IR (2) urzRrEA (3) FgfA (4) TR
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Follo“mg arc the steps of thc process of '"Recombinant DNA Technology :
(1) “Isolation of genetic material. o

(1)  Cutting of DNA at specific sites.
(i)  Ampilification of gene of Interest. o
(iv)- Inscrtion of Recombinant DNA into the host cell. s
(v)  Obtaining foreign gene product.
{vi) Downstream processing. .
Which of the following is the correct sequence of the steps 7

1_;13'.

T "'I,'.'!I'-: TLTE

() @), Gi), @i, (). (v), v) @) (), GiD), G), (), Gv), vi)
(3)  (m), (i), (@), (iv), (v), (vi) @ (), @), (). (iV), v), (vi)
TR SO wﬁfﬁﬁwﬁﬁm%wﬁw%“ v
(i) . omgaifis el @ geasTo) f e

(i) duaw @ fafire wal 9v fmee)

(i) 3fod I @ FEE

(iv) G AT o dEe et ¥ e

(v) st s Sar” W @ . i

(v) @HQ'CIT%?E o 1B | y
ﬁwﬁ#@a%@rwﬁw%ﬁmmaﬁ%? ) .

() @, G, (i), @v), (v), (vi) (2)  (v), (iid), (1), (11)‘ (W) (w)
(3) (i), @), ). Gv), (v), (vi) @ ), (), (illl_)__ (,l_ff) ___(}') (vi)

Restriction endonucleases arc widely uscd in genetic cngi'ncefiﬁ'g_:-’Taé;:_ause -
(1} these arc proteolytic enzymes which can inactivate hannﬁi:l"‘firotem's.
{2)  these can join different DNA fragments,

(3) thesc can cut DNA at variable base sites. v

(4) these can cut DNA at specific base sites.

i “{ﬁﬁ?ﬁmaﬁﬂﬁwmﬁmﬁﬂﬁﬁwwmw%mﬁﬁﬁ-
(1) ﬁﬂﬁ?mﬁﬁwﬁ%%ﬁmﬁaﬂwmﬁﬁﬁmmﬁ%]
2) ¥ WU & fae wvE w A wmd ¥ s

3) aﬁ@‘!aﬁqﬁaﬁﬁmwﬁ@rﬁ@ﬁ@amm%l

(4) ﬁﬁ.@.‘q.a%%ﬁmmwﬁ@rﬁaﬁaamm%ﬂ 1

The most effective method of in vitro amplication of desnred gqncs 15 -
(1) PCR (Polymerasc Chain Reaction)

(2) PAGE (Poly Acrylamide Gel Electrophoresis)
(3) -CE (Capillary Electrophoresis) : .
(4) HPCE (High Performance Capillary Electrophorems) PR
e it & o vy o waifuw werdh Ry -

() WHaR. (Afdaris Jae aflsan) B

(2) ‘-ﬁQTrﬁé (m | W—W—W) ‘-fﬁ:f."'-’; REEIAIY IS

() W @ g duem) o o
@ waddi (vo P e Regg-wo- W) L
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108 What is [ ?
Cofy

(1) An enzyme capable of catalysing the joining of ends of DNA fragments.
(2) A restriction endonuclease obtained from a bacterium. .

(3) A vector.

(4) A bacteriophage.

Eeor ¥
(1) wﬁﬁwaﬁﬁr@q@vﬁ%ﬁﬂﬁfzﬁmﬂsﬁa&ﬁmaﬁwﬁamﬁﬁw&m% |

() TE whieed oiggRRad St us s T oW fEm S s
(¢) U TmEEs (G | _

4) TH St |
109 The sheep 'Dolly’ was created by -
(1) Nuclear transplantation © (2) Nuclear Fusion
(3) Blastocytc fusion (4) Qocyie transplantation
T THE ¥ T T A1 -
(1) = FRIAUT FW (2) HEd gOad FA
(3) wREEE WA B 4y ey wlatoer &R

110 Enzymes, Lysases are responsible for -
(1) Hydrolysis of complex molecules
(2) - Addition of molecules to double bonds
(3) Elimination of groups to create double bond
(4) (2) and (3) both
s WEA (Lysases) Bt & fWg seiEmEl ¥ - _
(1) it empel ¥ wwemmew ¥ fwg () frww wosmet F A & fae
@¢) o ¥ Peem Q@ e se @) 9 @) 3

@ F fwg
111  All Lipids upor hydrolysis yield
(1) Monocarboxylic acids (2)  Dicarboxylic acids
(3)  Tricarboxylic acids (4) Mixwre of above threc
) it % wiceTERe O SAted wA § -
(1) wrrEElREaE o (2) cEEEIENG FR
(3) TRMEIFNTD oA (4) Sudad dF0 w0 fs
112 Which of the following is not an essential amino acid ?
(1) Valine (2) Leucinc (3) Alanine (4) Isoleucine

frg § ¥ 9 97 oTayE (cssential) WHFT URs WE ¥ 7 .
(1y et (2) wgaA (3) T (4) TGS

113  Glucose and fructosc have following structures -
(1) Both have furanose structure.
(2) Both have pyranose structure.
(3) Glucose has pyranosc structurc and fructosc has furanose structure.
{4) Glucose has furanose structure and fructose has pyranose structure.

EE ol gy B fre demd S ¥ -

(1) TF W wgEe e S

2) I B UG A B S|

() T ® TEEE T g pRe @ e S w6 gl
(4) TR W WgIEE S a4 B @ T g3ed i ¥
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True waxes are -

(1)  Protcins (2)  Carbohydrates

(3} Alkanes (4) Lipids -

& Jag (True waxes) Bl & —

(1) W 2) wrEEERe

(G) Ueb . ) fufie

The.shape of XcF; moleculc is :

(1) Hexagonal (2)  Trigenal bipyramidal
(3) Regular octahedral s (4) Distorted octahedral
XcFg 919 & oply el ¥ -

(1) B (2) P R
3) Frafm vy (4) Fpa eTewaE™

Among the following ions which one has the highest magnetic momentum value ?
() [CrH )l (2)  [FeHa0)1> (3)  [Zo(H,0)P2" (4) [Fe(CN)g )4
Frafafan et & ¥ foed wadm ot @& 99 sy 3¢
(DG00I (2)  [Fe@hbO)Pt () [Zn(Ha0)2* (4)  [Fe(CN)G*-

The symbol for the super heavy clement with atomic number 105 is

(1) Uno (2)  Unh (3) Unb (4)  Unp
TN HAE 105 G| AR o B WA B (symbol) B

(1 Uno (2Y  Unh (3) Unb (4) Unp
The element used in cell walls, bones and some shells is °

(1 Mg 2) Ca (3) Fe @) Cu
*ifiehr e, efel ot g5 = ¥ wgm B Ter T

) Mg. 2) Ca {(3) Fe 4) Cu

Hydrolysis of 2 — bromo — 3 — methylbutane gives following major product :

(1) 2 - methylbutan - 2 - ol (2} 3 —methylbutan - 2~ ol
(3) 2 - methylbutan - 1 = ol (4) 3 - methylbutan — 1 - ol
2-5ifl =3 - Ao & s smeeT ¥ fov g sae ure @
(1) 2 -Afmeps -2 - s ) @) 3 -ARwER -2 - sifw
(3) 2 -Hfererees — | - affet @) 3 -"fmeRs - 1 - s
Chromophore showing both 7 — 7:* and n— transition is :

(1} Nitrile (2) Ethylencs ]

(3)  Acetvlencs (4) Conjugated-dienes
nen*aﬂTn—)n*ﬂﬂ’owﬁiﬁmwm%:

(1) -z (2) i

(3) Uit @) wgeh =e
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If 5.85 gm of Wali"% dissolved in 90 gm of water, the mole fraction” of NaCl is:

() 0.1 2y -0.01 (3) 02 @) 0.019
zﬂ%:5.xaumNa(31aa9omaaﬁrﬁmﬁwaﬁ?ﬁmcmmrfmfwm

() o1 . . 42y 0.01 3) 02 4 00196
e R o :
What wmght of copper (At. mass = 63.3) deposits when 1 Faraday of ClLC[I’lClty is
passed through cupnc salt solution @
(1) 635 gm ) 3175 gm (3) 127 gm () 1.0 gm
LS 1#03%@3@":@%@%%%%@@?&%@%.@,%@
A fpr EW (ST 63.5) 7
(1) 63.5 M (2) 3175 7M™ 3y 127 9H (4) 1.0 TH

B I S

If the earth suddenly shrinks to 4 of its original volume and mass remains unchanged,

period of one rotatlon of carth will be (period of one rotation of earth before contraction
is 24 hours) - ' ¢ S

=

i

(1) 0.66:hour..::(2) 1.5 hour (3) " hour {4) 4 hours

1

b,

_Hﬁgﬁeﬁmﬁﬂiﬁmlqmﬂﬁmdmmﬁg‘ﬁaﬂ —4 \;ntazh-{?raanmﬂﬁ SREHERE

ﬁmqﬁrmwwﬁm@rm| (uﬁtg&?r&smﬁmmemﬁﬂw-wqum
w 24@%0

e 1

1) 066 () Lswm @ o @ 4 "

- A wire of uniform cross scction of 1 mm? and density of material 9800 kg/m? is stretchcd

by 10 kg weight to produce transverse wave. The velocity of transverse wave in wire.
(1y 100 qv’sec () 10 mfsee  (3) 1000 misec  (4) | m/sec
loﬁﬁmmmd’r&nﬁ lﬂﬁﬁWWHW?ﬁTWWW%OO
frmdd ¥, ¥ S owed wOT w9 ¥ -

(1) 100 A2 ) 10 74 Gy Lo LA @) 1WA

An clectrical oscillator having inductance L, resistance R and capacitance C will be
oscillatory if - '

AL L ~ L
() \/; (2) ;—— €) \/; @ s

ﬁgﬁuqﬁqaﬁwa, wRriy R gar i C ¥ 1 Rrga difver g ommaye® g -

P - L -
R<2,|= R=—7— = =2 |
() R< \/; @ Jic © R>2\/; @ R Z\E
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126 If C,, is most probable speed, C,.s 18 TOOL mean square speed and C is average speed

then for a particular temperature Con C: Copg 18 120
(l) l c 1128 : 1,228 (2) l : 1281 ¢ 1.282
(3) 1 :1.82]; 1.200 (4) 1: 1182 : 1246

afs C,, sfimas wivme T, C,,,waﬁmwiﬁamam(?aﬂmaﬁ% Gl
P—rfsaaamwc .C:C, @ A% -

rms S

(-1 :1.128 : 1.228 (2 1:128i:1.282

(3) 1:1.821: 1200 4) 1:1.182.:1.246

127  Two: sourccs are called coherent if they produce waves ;- HE
{I) of equal wavelength (2)  of equal velocity

(3) having same shape of wavefront (4) having a constant phase difference

T HG B T FEOE E oAl seer S Ao @ -
() ™ T 3 Q) W H
(3) oM # TW s 8 ) Wﬁi’qﬁ'{%_

128 In-an’ insulator, the forbidden energy gap between the valence band and conduction
band is of the order of -

(1) 067 eV @) 114 eV (B) 143 ev @ 56V
TF A F wan ¥ Ud are Y % qen afvia Gat o B A qE g d

(1) . 067 eV (2) 1.14 eV B) 143 ev . @4 5 cV

129 A piece of copper and another of germanium are cooled from room temperature to
80 K, The resistance of - %
(1) - each of them increases
(2)  each of them decreases
(3) ‘copper increases and germanium decreases
{4)  copper decreases and germanium increases

weﬁmmaﬂrmeﬁﬁw%maﬁaﬂ%%memKWWﬁw
™ ¥ T T R - '
(1) &% & T B

-

) TR B ogeal E R
(3) @ w wear ¥ ok WOl @ wear ¥
4) di B owed ¥ o wOiREE wr s ¥

130 Amplitude of oscillation of a forced oscillator at low frequency is 0.01 % 102 m
At frequency 100 Hz, it is 5 mm, Quality factor is - ‘L
(1) 30 (2) 500 3) 5 - . .(4) 5000
T YU e @ g7 SgRt WX e 0.01 x [02m ¥ SmeT @ wm 100 Hz
W Smm B IR T faswar qonis wr 9w ¥ - ._
() 30 ) 500 3) 5 a (4) 5000
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Which of the following. is not a step of scientific method ?

(1) Observation (2) Classification
(3) Curiosity (4) Measurement ¥
ﬁmﬁiﬁaﬁﬁ%aﬁﬂ—mawﬁm&rﬁrqu@% ?

(1) v , (2) TR

@3) fTosmn 4y WA

Which of the following statements is not correct for the concept of Science ?
(1) In Science truth is always discovered. :

(2) Science brings change of special type in the behaviour and outlook ot man.

(3) Science is process as well as the product of the process. .
(4) The concepts in Science are stable and they never change.

ﬁqﬁif@ﬁﬁ%a?ﬁmmmﬁaﬁaﬁmw%ﬁmaﬁﬂﬁ% ?

(1) fema ¥ g¥9 T B de H oS §

'¥) ﬁmwﬁm%wﬁq&aﬁwﬁﬁ%&www&aﬁ?w%a
(3) R whear o ¥ aan wlemn wr ofm o

) ﬁﬁﬁﬁaﬂwwﬁsﬁr%eﬂ'{%zﬁﬁfaﬁﬁrﬂﬁl

According to "Thurber and Colleite” a Science teacher should work hkc a -

(1) Translator (2) Instructor (3) Mediator (4) Tr:uncr
g W B %aﬁ,ﬂﬂﬁaﬁmmaﬁﬁmmmmaﬁz ?

(1) @RS (2) STRNE (3) TuT™ (4) widreTs.
The Tara Devi Seminar for objcctives in Science teaching was held in -
(1) 1955 2) 1954 (3) 1957 4) 1936

frerer Rreer % SRedi WY wroRer SRmC faw owd F g A& 7 N
(1) 1935 (2) 1954 (3) 1937 4) 1956~

According to National Curriculum Framework 2003, one of the five directivé ‘pﬁnciples

of curriculum formation is -

(1) Connecting knowledse to the life outside school
(2) Leaming second language

(3) Changing the outlook

(4) Building a strong basc for higher education

Wwﬁﬁmzooa%wmﬁﬁwﬁiwﬁﬁm%@?ﬁﬁ

A0 -
(1) T @ & ® ey SE q S

) fdm war g
(3) gftedm ® WAl

(4) ﬁﬂfﬁ%%@m'eﬂmwﬁqhm



136 It was said in the National Policy of Education 1986, that - - -
(1) Science education should devclop endurance among tcachers and students.
(2} Students should work hard to get good marks.
(3) Science education should be such that it will develop in students the ability to
solve problem and take decision.
(4)  In Sciencc subjects morc cmphasis should be given on pract1C'1l work,

T fyen AMe-1986 ¥ @ wEr vy By -

() s frer o Rt o ferffal ¥ weaafm Retm e of)

(2) mﬁﬁﬁﬁm%mmﬁﬁ;ﬁmﬁﬁﬁaﬂﬁ-iﬁql

() o Ben @ ver o O afey f5 95 ReRR @) orer aas wor o
ol w9 grg Ty

(4) W%Wﬁﬂ%ﬁwmwﬁml

137 Who revised the Bloom's Taxoromy of educational ob_|ect1vcs in 2001 7

(1) Young (2 Anderson (3) Lewis (4)  Edger
= a ygd M sdvd F it @ 20010 F ey dsifue R ¢
(1 @ (2) e (3) wfew (4) @R

138 How many focus groups were formed in National Curriculum Framework-2005 7
(1y 20 2y 22 (3) 21 4y 23
quﬁmzooaﬁmﬁmﬁﬁwnﬁaﬁﬁ&ﬂﬁ&?
(1) 20 2y 22 (3) 21 (4) 23

139 The three components of teaching process are -
(1) Students, books and cxamination (2) Curriculum, students and teacher

(3) School, teacher and students (4)  Teacher, schooi and classroom

frror v & fT orma ¥ -

(1) ~ ReEndl, gweh ofic qllan (2) wremeai, faanedt et farers

(3) wpe, foerd ol frendf @) Pww, @ ok wa-wa
140 Some steps of project work are given herc -~

(a) Formmg outline (b) Evaluation * _

(c)  Selection of project (d)  Excecution of the project

{c) Preparation of the report
The correct sequence of these steps is -

(1) (@), (), (c), (b). (&) ) {c), (a), (e}, (d),-(b)-

(3) (e}, (a), (c), (b), (d) 4 (©). @), ). b), ()
(a) ww—@r i (b) TFErEHT

(c) uR@w = g™ (dy wREsET W= wEEEs
(¢) TR T &

T OO W OGN FHOE -

(1) (@), d), (c), (b), (e) 2) (¢} (@), (). (d). (b)
(3)  (e), (1), (c), (b), (d) ) (). (a), (d). (b), (&)
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145

nquiry Model of Suchman is based on -

(1) Deductive . . (2) Inductivc
(3) Both Inductive and Deductive {4) None of the above .
THAT B T WeW § -

(1) Frmrs (2) SIS

(3) oS Tl Foed @) v @R T

"To leam science is to do science. There is no other way of leaming science".
Who said this ? B

(1) S. Chandrasekhar (2) U. R. Rao

(3) D. S. Kothari (4) Jayant Narlikar

“fram & dra, ﬁaﬁaﬁm%lﬁaﬁﬁr@%waﬂéeﬂiaﬁaﬁﬂﬁ%l
a5 wud o ¥ 7

(1) Ty TeEy ) ¥ I T

3) A . Fel (4) wEE AT

Which of the following is not a co-curricular activity of Science 7
(1) Science laboratory (2) Scicnce fair ;
(3) Science exhibition (4) Science club
Prefvfag § @ A R B @ Trea-wee ety T8 T >
(1) Taem i @) fase Aww

() TEm e (4) fTaoe ome

Objects of which group are inter-related ?

(1) Stop watch, pendulum, test wbe holder

(2) Wire gauge, tripod stand, burncr

(3) Test tube stand, galvanometer, measuring cylinder
(4)  Boiling tube, delivery tube, hand lens

foer wE B Tl TR deita ¥ 7

() Brm =R, wes, 9@ Tw@Oee

@) T e, B wus, i

(3) U@ T wve, A, e st

@) waus T, Prew T, omadE 9

If working in a laboratory a container having inflammable fluid catches fire while
heating, then your first job will be - .

(1) Shout for help (2) Pour water over the burning fluid
(3) Run away from the place (4) Put off the gas burner

af wEmenen ¥ @@ Y GHY o T Y 9t T RO HW Y e e
@ OGI ¥ W Sl UEr W B -

() e & fag feed (2) v a9 WA ST
(3) W€ WM ¥ WM Wi 4 A9 X w g
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146 'School Science' a quarterly journal is published by - o
- (1) National Council of Educational Research and Trammg
(2) National Council of Teacher Education Detildiad e
{3) Central Board of Secondary Education RN
(4)  Centre for Science and Environment

T WE %mﬁmﬁwmmmﬁmmmﬁww% ?
() W few srgau Ta i gy

2) W semue fiw afwg

(3) " HFgu et firear @

@) T g qatRer F=

147 Tha fixed answer type question, out of the following is -  ~ *
()" WHat is an insulator ? e TR
(2) Sunhght is essential for the growth of plants. Is thls ‘statement true ?
(3) What is the difference between Copper and Iron. '
(4) Give an example of strong acid.

Fraffag & ¥ Fieg v v @ weT ¥ -

(1) foegaosh = a1 ¥ 7

(2) ﬂﬁa&q@%%qg&mm&rmsw%lwuammaﬁ%?
(3) WU AR AT ¥ w S ¥ 7

(4) ST &TT I UH SEBTT &

148 Somc steps of question paper sefting are - V.-
{a) preparation of blue print (b) evaluation
{c) weightage to objectives (d) making questions
(e) preparing answer key
The correct order of these steps is -

M ©, @, @, ©. ©) @) ©, @), ©), @, b)

(3) (@, (b), (o) (a), © @ @) @, @. b), @)
g o Pt &% g5 T ¥ -
( = T T s Gb) T
() SEe@l # &F UR () w97 P L

(c) oi% AW AR B/
3T 9Ol BT OHE HH § -

(1) (e}, (@), {d), (e), (b) (2) (C) @, (©), (a) (b]
(3)  (d), (b), (GL (a), (e} ) (e}, (d), (&), (b) (a).
- 149 Which type of question will not devclop critical thmkmg amcmg, studcnts ?

(1) Open ended question (2) Probing questlon _

(3) “'Closed qucstions (4)  Divergent ' question *
ﬁww%uaﬁwfrwﬁwahaﬁﬁwﬁmﬂﬁwm ?
() g ae (2) @l 9w\

G) TH oA (4) fafrard BTQT-[ 3

150  Which one of the following is not a criteria of a good test:?:
(1) Reliability (2) Validity (3) Potentiality = - (4). . Objectivity
o § @ @, ot [RiwT W AMde W# ¥ 7 -

M foyaadmar  (2) Rroeggea  (3) e () Tgfreer
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